LF 2025 ffitksk

e PE b 4 HAR FioA M g ehd-N =InEa BloA &
2225470 5-8 2225473 4-7
2225471 INDEX 8-12 ¥49,000 [ 2225474 PLUSH 7210 ¥49,000
2225477 12-15 2255243 46 Ws-7)
2235270 4-6 (W5-7) 2255244 6-8 w7-9)
2235271 TRANSIT 5-9 w6-9) ¥69.000 2255245 VIDA 6X 8-10 w9-11) ¥86,000
2235272 9-12 ' 2255246 10-12 w1113
2235273 12-15 KID'S BINDING - R6
2225462 7-6 Ws-7) 2225477 DREAM 12T-5Y | ¥48,000
2225463 5.9 W6.9) 2225475 12T-5Y
2225163 SCAN 6X OT J i ¥79,000 | 2223173 RANT L ¥48,000
2225465 12-15
22254538 6-8 2255212 6-8
2225459 8-10 2255213 8-9
2225460 ] CLASSIC 6XOT 10-12 ¥83,000 15555514 ASPECT 4D 9-10 ¥107,000
2225461 12-14 2255215 10-11
2255238 4°6 2255216 1112
2255239 6-8 2255206 6-8
2255240 TAO 6X 8-10 ¥86,000 | 2255207 8-9
2255241 10-12 2255208 9-10
2255242 12-13 2255209 HOOK 4D 10-11 ¥109,000
2205243 4°6 2255210 1112
2205244 5-8 2255211 12-13+
2205245 8-9 2255200 6-8
2205246 CLASSIC 6X 9-10 ¥86,000 [ 2255201 8°9
2205247 1011 2255202 9-10
2205248 11-12 2255203 PEAK 4D 10-11 ¥116,000
2205249 12-13+ 2255204 1112
2255236 7-6 2255205 12-13+
2245225 5-8 BINDING PARTS
2245226 89 2117682 BLACK
2245227 HOOK 6X 9-10 ¥99,000 [ 2117683 LACE 13 WHITE ¥400
2245228 10-11 2117680 BLACK
2245229 11-12 2117681 LACE LOCK 118 WHITE ¥400
2245230 12-13+ 2175701 TACE END BLACK NEW ¥400
2255230 6-8 2154000 LACE KIT BULK 1PK ¥4.000
2255231 8-9 2155590 | LACE KIT BULK COLOR 20PK ¥38.000
2255237 9-10 2175702 | LACE KIT BULK BLACK 20PK ¥38.000
2255233 VERTEX 6X 10-11 ¥99,000 ROPE / HANDLE COMBO
2255234 11-12 2215711 RED
2255235 12-13+ 2215712 BLUE
2255224 76 Wws7) 2215713 | 'ROHDLCOMBO —5pance | ¥1°:800
2255225 6-8 W7-9) 2215714 GREEN
2255226 8-9 2185353 RED
2233228 TERRA 6X S ¥99,000 (2185353 COMP COMBO RED ¥36,000
2255228 10-11 2235659 RED/BLK
2255229 1112 2205822 TEAM COMEO WHITE ¥48,000
2255217 4-6 2185342 GRY/BLU
2255218 6-8 2235652 PLUSH COMBO =51V eRy ] ¥20,000
2255219 8-9 HANDLE
2255220 AERO 6X 9-10 ¥115,000 | 2145554 ADJUSTABLE T-HANDLE ¥3.800
2255221 10-11 SURF ROPE/ HANDLE
2255222 1112 2126979 | WAKE SURF COMBO HANDLE ¥14,000
2255223 12-13+ 2155522 SURF 8" HANDLE KNOTTED ROPE GREEN ¥'|9'000
2205825 | SURF 8" FLOATING ROPE BLUE ¥20,000
2126925 1/4-20 BNDG BOLT KIT W/WsH ¥2 500 5515704 | FAYDRATAK SURF ROPE 10" GREEN] ¥23.000
LVFRY (4DAY) ’ 2225752 | LEARN to Surf handle with shock absorber ¥25,000
M6-21mm METRIC BOARD BOLT KIT 2195604 SURF DLX RED
2126927 SRS (#9AY) ¥2,500 2195605 HANDLE 9" RASTA ¥27,000
M6 BINDING T-NUT 2185351 SURF 9" WHITE
2126921 TAHY3— SUKSH ¥2,500 2215703 | ULTRA SUEDE ROPE BLUE ¥27,000
5126928 M6 BINDING T-NUT KIT W/LOK ¥3.000 2235658 |SURF DLX COIL 9" HANDLE ROPE BLK/GREEN] _ ¥28.000
EWHOIURS (1DAY) : 2235656 | DLX MOLDED SURF ROPE BLUE/BLACK] _ ¥29.000
2206100 6X HARDWARE KIT COMPLETE ¥3.000 FO/L ROPE/ HANDLE
A Y —FR—F L6V FT—Y D TY— v ) 2225753 FOIL SURF 9" COMBO 75' ¥49.000
IPX M6 BNDG BOLT KIT W/LOK
2126926 ST EvE (4DAY) ¥3,000
4D SCREW ANGLE LOCK x 4
2195900 s ¥3,500
6IN FLEXTRACK MOUNT x 4
2175703 | mextrACKE64>F7—yRwyvr | ¥4500
4D FLEXTRACK MOUNT x 4
2195901 FLEXTRACK&4DT—YRTIVE ¥4’500
METAL ANGLE LOCKS
2095663 LUFXS B (4DAY) ¥5,500
4D FLEXTRACK HARDWARE KIT COMPLETE
2195902 FLEXTRACK&4DT—Y RV T —Fvh ¥5’900




